. Write down a format of cash flow statement by
Direct Method.

Ty fafy 9 Is Jae faao-93 9 &1 9%q a6 |
. Explain various methods in brief to evaluate
investment proposals.

fafrim T qeE w1 e AR e
HHART

. Write down a format of ‘Statement of Changes
in Working Capital’.

‘el ISt H uftedd & faero-us’ o yew fafe |

. Explain factors affecting determination of Capital

Structure.

Tt e W e @ o et w Al aedi
HHART

. Explain limitations of Financial Statements.
foxita foarol 1 S\ THEmET |

. Explain Financial Leverage and Operating

Leverage.

foxita 3o & IREe SAash ol 9HEEy |
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Note .— The question paper is divided into two Sections

A and B. Write answers as per the given

instructions.

T .- o' gv-uw ‘e’ eIk ‘9’ ) el ° fawifsa ®1 e

TUe % RITER T9 & W
Section-A 4x3%,=14

(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of

the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 3%z marks.
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Frder o

1. (@

(ii)

(iii)

(iv)

)

(vi)

G UE—37
(3tfa &g ST w9)
frgl O 9l & S AW 9 e ST

YHER UF T, UH g A1 Afemad 30 vl o
TRt ST T 999 3Y% 3t &1 ¥

What do you mean by Trend Analysis ?
M g favewor & 1 gmea € 2

Write down any fwo objectives of Financial
Statements.

foxftar foreror & &g I sexa fafew

Write formula to calculate ‘Cost of Debt’.
‘SBU H ANG A wE w1 P fafem)
What do you mean by Working Capital ?
Frivie ot ¥ oy o T ¥ 2

Write any #wo objects of reports.

Hidee % i aF Sevd ferfem

What do you mean by ‘Investment Centre’ ?

“fafm #' ¥ 9 = g9 § 2

(vit) What do you mean by Over-capitalisation ?

BC-13/4

SAfa-ISiiehRor & 9 1 THe § 2
(2) 272

(viii)) Write down any two limitations of

Management Accounting.

Yol SR i his af 9 fafa |

Section-B 4%x14=56

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 14 marks.

TUE—d
(T I q9)

fder:- sl o) vl & S STl eY o W Wl
srferRae 200 vrsi H OREifqa wifse) e 999

14 3Rt T T

. Write down any three formulas of each to calculate

liquidity, long-term solvency, activity and
profitability of a firm in terms of ratios.

3TUTAl % &9 H TH HH I qlordl, SreehTelE IineH-
o, TRamiierar 9 anyE™sdl °Haq & fau 9s &
d-da g7 fafeu )

. Explain the various methods of inventory control

in brief.

Y ¥ Wy e ot fafv= faftei 0 awsmsu
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